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calculateMile(m)

if (status == "NORMAL"){
return m ;

}else If (Status == "'S| LVER"){
return m*1.25 ;

}else return m*1.5 ;

getPrice(p)
If (status == ""NORMAL")K
return p ;

}else If (Status —— "S“—VER"){
return p*0.97 ;
}else return p*0.95 ;

o

Jeriper

setStatus(tm)

status \
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calculateMile(m) getPrice(p)
If (status == "NORMAL"){ If (status == "NORMAL""){
return m; returnp ;
}else if (status == "SILVER"){ }else if (status == "SILVER""){
return m*1.25 ; return p*0.97 ;
}else if (status == "GOLD"){ }else if (status == "GOLD"){
return m*1.5 ; return p*0.95 ;
}else return m*2.0 ; }else return p*0.9 ;
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status\;
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Class A Class B
if C1 {P1} ML~ M2 M3
else if C2{P2} —— gy | ]
else If C3 {P3} |
\ AB 4
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AN
) CL /Q Cc2 < N\ C3
M M 5 M ;
HEULNA Pl P P
factoryMethod(.).M1  |MZ2 ... M2... M2 ...
M3 ... M3 ... M3 ...




i?l‘i")%)lﬂ»r/‘(l\l:J:é%#ﬁa\mi

factoryMethod(""PLATINUM")
.calculateMile(6000)
factoryMethod(""PLATINUM")

.getPrice(1500)

Platinum

Member

String status

calculateMile(m)
{return m*2.00}

getPrice(p)
{return p*0.95}
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static Member factoryMethod(status) {




